Efficiency vs dr

x 12
g L
[
g L
> 1
O L
< L
Q
o
£ 0.8
()
0.6
0.4
0.2
O J.-\-B t IO TR I ITTTITITITTTOTITITOTTTITT
= —=— DQM_original_step2_ttbar-phasel-newgeom
&U —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
| | —— DQM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
TTTHTIH TEETTFTITITN :
T
0.95 l L
107° 1072 = 1
TP min AR

[ Efficiency vs dr (track,jet) |

0.8

efficiency vs AR(TP, jet
© o o o
N [¢)] o)) ~J

o
w

Efficiency vs pu

1072

-1

1
AR(TP, jét)

©
©

efficiency vs PU
o ©
N ~l
IIIIIIIIIIIIIII
: :

o
o

¥

._.
I
"
+

093630 40 50 60




	Contents
	Page 1


